o)
TurboSwung

the power behind your outboard

Mounting instructions
TurboSwing® XM & XL



6x 2X 2X 2x M12 x40 2x M8 x 25
R——) —
7 N,
2x M8x35/45 2xM12 4x M8




| Drill holes for
 stabilizing bolts

Apply waterproof @

sealant (Sika i.e.)! O
before replacing
bolts.
% *Repeat on left side
Standard mount Reversed mount

{ Important! Important!

| Apply Apply

i grease grease

M12 x40 [ . == ' M12 x40

M8 x25 M8 x25

Or use bolts with self
& locking nuts to secure




|

Firmly tighten the pre-trim
locking bolt when desired
angle is reached.

Ensure the EZPulley ™
has sufficient room.

Minimum distance between motor
and Turboswing® should be 6 cm

Place the stoppers in such order that
that the motor cannot touch the EZPulley™

AN

o)
~ TurboSwing’

the power behind your outooard

Postbus 65
2360 AB Warmond
The Netherlands

Tel: +31(0)71-30 11 220
Fax: +31(0)71-30 10 044
info@turboswing.com




